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\ 14816871.66
3849.268977

ol 3849.268977 =
ofrgrer qreAy
frgma =

3849:16 Fag

IR x frem o+ AR
2198.239484 x 3438 =+
1963.372108 = 1963:22
T =g ger 9 9w 53.372

= fug 2093 TR = 183
M = Y X 225 + TR + (Tasantae @ x 225)
53.4 x 225 + 183 +( 9 x
65.62144 + 2025

2090.621
et fromrer =
sfrermaTe =
sfrgbeser feom
HOH g
sfrgrmare

FANE
Tq fuvg

1:4:50:37
0:17:25:19
aa: ofrormard
8:2:0:12

34.84369
17.42185
- |
242.0034027 =
+ 17.42184537 = + 0:17:25:19

g

3849.268977

1910

225)

259.4252481 = 8:19:25:31
(e &#, ARamaTH)
o= 130.047056
g. i, werd - 259.4252481 -

4:10:2:49
8:19:25:31

Rraa= 230.6218079
Tefam = -1 qerig Hwor
1 wepfg a9
50.62180794 =
3037.308476 + 225
13 9w 112.3085
TaE=R = 143
(99 X TR + 225 )
112.3 x 143 + 225)

fateem =
I

AP =
T AMUE Fedr
= g 2728

TS = T = v+
2585 +(
2656.378

ey =

1:20:37:19

75
72

75:0
72:0

IH garT
faos gar=r
180 elT
I ST X IR TR +
180 + 60 ]2656.378 x
7969.134828
(3438 f=amar)
e Oty = Teuffy — ( srea=ter +3438)
= 75 - (7969.135 + 3438 )
= 72.68204 = 2:12:40:55 et
oIl K = qaosar - X o Okl + 360
= 2656.378 x 72.68204339 =+ 360
= 536.3083364 = 536:18
T sfuve der 2 9 87.308 T faug
T fug 671 TaR=R = 222
T = 9T x 225 + TR + (Tqeamiyve gem x 225)

gfeegeeR =
EESKEL =
2656.378
7969.134828

(1 fr=arar)

60
180

X

7:20:37:19

g frog 2585

+60

FeAT

449

V' 11140398.08
3337.723487

Tl 3337.723487 =
ofrgwrer ara
frgwer =

3337:43 Fag

e+
3438 +

TAH
3337.723487
FeATS

T favg

AATR A X
1216.930451 x
1253.491162 = 1253:29
T wfuve der 5 9w 148.491
T fyre 1315 TR = 210
oqY = Y X 225 + TR + (Tasafre g @ x 225)
148.5 x 225 + 210 +( 5 x 225)
159.0977 + 1125
1284.09767
#omfs ofrder =
ofrereerred =
sfrorsmser faom
I e
ofrercerd -

1105

0:21:24:6
0:10:42:3
. gy
11:9:12:42

21.40163
10.70081
qenfe o -1
339.2117214 =
10.70081394 = - 0:10:42:3
328.5109075 = 10:28:30:39
(e &4, ARaTaTH)
o= 220.4770422
7. o, werd - 328.5109075 -

R

7:10:28:37
10:28:30:39

g 251.9661348 8:11:57:58
RS = -1 qerie Ao
wfafeem = 1 F&fg a7
el 71.96613475 =

STSTehelT = 4317.968085 =+ 225

T sfuve der 19 9w 42.96809

= fyug 3321 65

a9 = T frg + (9" x AR + 225)
3256 +( 4297 x 65 <+ 225)
3268.413002

Aty = IJH I8
faos aaTr

120 e

Ao T X qREA=R +

120 + 60 | 3268.413 x

6536.826005
(3438 tr=amn)

e aftfy = Tuly - ( srva=ter +3438)
= 30 - ( 6536.826 + 3438 )
= 28.098654 = 0:28:5:55  snemfy
AT F = q=ar X e aikfr + 360
= 3268.413 x 28.09865445 = 360
= 255.1055765 = 255:6 Farfe

T Sfuve gen 1 9w 30.106 T fuog 225

T faug 449 TR =

T =+ (TAsATiaTE @ x 225)

2:11:57:58

g fvg 3256
TR =

30
28

30:0
28:0

gfeegaeR =
EESHES =
3268.413
6536.826005

(1 fr=ama)

60

120 +60

X

224



= 87.3 x 225 = 222 +( 2 x 225)
= 88.48818 + 450
= 538.488
#enfs Aewd = 8.974803 = 0:8:58:29
TR = 4.487401 = 0:4:29:15
Aadsd faem qae | -1 o ofrarmed HI
oq: g #H A=A ¥ Y8 = 7 kerd & ARhA
g ofl welrd 259.4252481 = 8:19:25:31
TR - 4.48740149 = - 0:4:29:15
o A wary 254.9378466 = 8:14:56:16
GEIRECT
== 130.047056 4:10:2:49
P P - 254.9378466 - 8:14:56:16
Rrad= 235.1092094 7:25:6:33
PEEE = -1 qeie Ao
fafeem = 1 w#fg o=
Ll = 55.10920943 = 1:25:6:33
qoeer = 3306.552566 + 225
Tq =g Hern 14 9w 156.5526 T fgug 2728
T frg 2859 TR = 131
TereT = Tqa e firg 4+ (99 x TR + 225 )
= 2728 +( 156.6x 131 <+ 225)
= 2819.148
I 0 = 0.820244 = 2819.148 (3438 frwam)
geeuity = I IaI=l 75 75:0
= oo ger=y 72 72:0
gfeegeeR = 180 el
EEb = I ST X IR TR + 60
= 2819.148 x 180 +60
= 8457.445148
e akfy = TRaRtg - ( wrvarer +3438)
= 75 - ( 8457.445 + 3438 )
= 72.54001014 = 2:12:32:24  senfs
5T e = qoredr - X e akfr + 360
= 2819.148 x 72.54001014 =+ 360
= 568.0584785 = 568:3 FANG
Tq =g ger 2 9w 119.058 TTq fyug 449
ey fug 671 TR = 222
T =+ (aenfurg ge x 225)
= 119.1 x 225 = 222 4 2 x 225)
= 120.6674 + 450
= 570.667
denfe e = 9.511123 = 0:9:30:40
ARdae faam qane ®or -1 o ofrerdmerd I
U< T8 = A I8+ H=hd
HIH TE 242.0034027 = 8:2:0:12
TR - 9.511122948 = - 0:9:30:40
d. A E&d 7. 232.4922798 = 7:22:29:32

= 30.1 x 225 + 224 +( 1 x 225)
= 30.23998 + 225
= 255.240
AT ARwA = 4254 = 0:4:15:14
TeRATE = 2127 = 0:2:7:37
Toesd faer qante | -1 EaHNIPEIE] HI
aq: fad #9 A %6 98 = g wend & ARhA
g off Felrd 328.5109075 = 10:28:30:39
TeRATE - 2.126999804 = - 0:2:7:37
o ¥ wad  326.3839077 = 10:26:23:2
T FH
Hear=e 220.4770422 7:10:28:37
oA wATY - 326.3839077 - 10:26:23:2
Rrere= 254.0931346 8:14:5:35
RS = -1 qeie Ao
Tfafeem = 1 F#fg a9
T = 74.09313456 = 2:14:5:35
et = 4445.588073 + 225
T Safue Her 19 sw 170.5881 W fvg 3256
T g 3321 TR = 65
T = Tq e fmg + (99 X TR + 225 )
= 3256 +( 170.6x 65 <+ 225)
= 3305.280999
o ST = 0.961708 = 3305.281 (3438 fsam)
Aty = BERCEES] 30 30:0
= oo ger=y 28 28:0
gfeegaeR = 120 e
=TT = qoT 7 X 9Iemen=R + 60
= 3305.281 x 120 +60
= 6610.561998
e Ry = wRatT - ( esreaeier +3438)
= 30 - ( 6610.562 + 3438 )
= 28.0772071 = 0:28:4:38  =amfe
T B = qoear X e gkl + 360
= 3305.281 x 28.0772071 =+ 360
= 257.7862753 = 257:47  wlg
T e wer 1 9w 32.786 T fyue 225
T fug 449 TR = 224
T =+ (Tqeanfuve e x 225)
= 32.8 x 225 + 224 4 1 x 225)
= 32.93264 + 225
= 257.933
defe Aswa = 4.298877 = 0:4:17:56
g faam qante mor -1 aa: ofrgerd HI
W< 8 = A Y8+ "=
HIH TE 339.2117214 = 11:9:12:42
TRERA - 4.298877377 = - 0:4:17:56
q A E=d 9. 334.912844 = 11:4:54:46



= wH = #4
e 339.2117214 11:9:12:42 e 234.0400314 7:24:2:24
q AT T - 2324922798 - 7:22:29:32 q A E=d T - 334912844 - 11:4:54:46
Rrerdbs 106.7194417 3:16:43:10 Rrerds 259.1271874 8:19:7:38
Tefam = 1 %uig ga RS = -1 derie o
aifafeem = 1 w#fg o= it = 1 F#fg a9
EEl = 73.28055834 = 2:13:16:50 7 = 79.12718739 = 2:19:7:38
LEEEI = 4396.833501 = 225 TRl = 4747.631243 =+ 225
T wfTg Fer 19 9w 121.8335 T v 3256 |a saifuve wenn 21 v 22.63124 W e 3372
™ v 3321 TR = 65 T fvg 3409 TRERR = 37
o = Tqa s firg 4+ (99 x TR + 225 ) eI TS I+ (99 X AR + 225 )
= 3256 +( 121.8x 65 < 225) = 3372 +( 2263 x 37 <+ 225)
= 3291.196 = 3375.721582
T =0 = 0.957725 = 3291.196 (3438 frsamn) T S0 = 0.982048 = 3375.722 (3438 fysam)
ofrg afivfr = IH TqT=l 235 235:0 ofrg aftfr = I Tq=A 133 133:0
= oo ger=y 232 232:0 = faros aaT=r 132 132:0
qieereR = 180 e gieafaR = 60 HaT
BRI = I ST X IR + 60 EESKN = T ST X g + 60
= 0.957725 x 180 + 60 |3291.196 x 180 +60 = 0.982048 x 60 + 60 | 3375.722 x 60 +60
= 2.873174797 9873.589034 = 0.98204833 3375.721582
(1 Fr=arar) (3438 f=ama) (1 Fr=ama) (3438 fr=amn)
e afkfy = weuffy - ( sr=ter +3438) e afa = weaufefa - ( sr=ter +3438)
= 235 - (9873.589 + 3438 ) = 133 - (3375722 + 3438 )
= 232.1281009 = 132.0181147
( 235 - 2.873175 = 232.1268252 (1 f==rar)) ( 13 - 0982048 = 132.0179517 (1 F=rar))
ol K = qeiedr X o IRy = 36U o] & = qeredr - X L IRE + JSbU
= 3291.196 x 232.1281009 =+ 360 = 3375.722 x 132.0181147 =+ 360
= 2122.164326 = = 1237.934442 =
= 35.36941 1 = 1:5:22:10 =femfe = 20.63224 #w =  0:20:37:56 semfe
Rrer &9, FTHITITH ... Rre &9, =TT aTq.....
Ffe = 90 - WW e = 90 - o
= 90 - 73.28056 = 90 - 79.12719
= 16.71944166 = 0:16:43:10 = 10.87281261 = 0:10:52:22
Fiferem = 1003.166499 + 225 Ffekem = 652.3687566 + 225
Tq =g ger 4 9w 103.1665 TTq fyug 890 [ watyve d@r 2 9w 202.3688 T fyue 449
T frg 1105 TR = 215 T g 671 TR = 222
Fifesar = T g+ (99 x AR + 225) Fifasar = T fvg + (99 x AR + 225)
= 890 + ( 103.1665 x 215 + 225) = 449 + ( 202.36876 x 222 + 225)
= 988.5813 = 648.6705065
Fife = = 0.287685513 988.5813217 Ffewr = 0.188629473 648.6705065
Fife AT ®A =  @FewAM X et + 360 Ffe AT HA = FHlfe T % Tagitts + 360
= 988.5813 x 232.1281 =+ 360 = 648.6705 x 132.0181 =+ 360
= 637.4375 637:26 FATG = 237.8784926 237:52 FAG
= FeHIE HT -1 = FeH(E A -1
T = Vi(Brom + #15)2 + (srorwen)?} = V{(Brem + F1% )2 + (sroren) 2}
= {(3438 - 6374375y + ( 2122164 = \{(3438 - 23787852 + ( 1237934 |n
= V{( 2800562 + 4503581425 )%} = V{( 3200122 y + 1532481.683 )%}
= N 7843150.241 + 4503581.425 ) = N( 10240777.66 + 1532481.683 )



v 12

346731.67

3513.791637

v 11773259.34
3431.218347

eyl 3513.791637 = 3513:47 FATS sy 3431.218347 = 3431:13 FeATS
HIPEEIIPEEY HIPEEIIPREY
ofrerer = e X frem o+ EECa frgeed = ooaTRd X B o+ AR
= 2122.164326 x 3438 + 3513.791637 = 1237.934442 x 3438 + 3431.218347
= 2076.389754 = 2076:23  warg = 1240.381165 = 1240:22 &«
T SATUE Fedr 9 v 166.390 wa fmg 1910 Ja safuve g 5 9w 135.381 wa fog 1105
= fug 2093 TR = 183 T fyre 1315 TR = 210
M = Y X 225 + TR + (Taenfavg @ x 225) Jq =+ (TS @ x 225)
= 166.4 x 225 + 183 +( 9 x 225) = 1354 x 225 + 210 +( 5 x 225)
= 204.5776 + 2025 = 145.0512 + 1125
= 2229.578 = 1270.0512
somfe ofver = 37.15963 = 1:7:9:35 #omfz ofgeer = 21.16752 = 0:21:10:3
it fqom e g 1 aa. ofrgred EE frodea feor qanfs | -1 ua: gy HI
HEE T8 232.4922798 = 7:22:29:32 AL T8 334.912844 = 11:4:54:46
st + 37.1596261 = + 1:7:9:35 ofrgwa - 21.16752081 = - 0:21:10:3
W T& 269.6519059 = 8:29:39.7 W T& 313.7453232 = 10:13:44:43
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T 3 LRI e EE LRI
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Date 25-03-2020
ASCICEE
T,
( SEOT X WO ) + I FfEA
= 714404167096 % 364220 + 1577917828
= 164901036.7475900
= 9 164901036
= WO 99 0.747589826584 X 12 = 8.971077919
= fr 8, W 0.971078 x 30 = 29.13233757
= 3T 29, 9§ 0.132338 x 60 = 7.940254211
= Bl 7, W 0.940254 x 60 = 56.41525269
= fgwem 56, 9w 0.415253 x 60 = 2491516113
= g fa 25
I AE HEAH TE 8:29:7:56:25
sEmis 9w TE 269.1323376

NCANIEC RS D

T,
( BT X S ) + I EHfaA

= 714404167096 X 7022376 + 1577917828
= 3179389058.3476800
= o 3179389058
= W7 9T 0.347681999207 X 12 = 4.17218399
= wfr 4, 9w 0.172184 x 30 = 5.165519714
= 5 99 0.16552 X 60 = 9.931182861
= &l 9, 9m 0931183 x 60 = 55.87097168
= fg@wer 55, 9w 0.870972 x 60 = 52.25830078
= g fa 52

qq: ARG AW TE 4:5:9:55:52

senfs 9w UE 125.1655197

FAEIA T AT

R qF AT

T, 7,

( BT X W7 ) + FHeq FfaA ( SBI X A ) + Feq FaA
= 714404167096 x 900 + 1577917828000 = 714404167096 x 535 <+ 1577917828000
= 407.4760669 = 242.2218842
= s 407 = 9 242
= 9 99 0.476066862970 X 12 = 5.712802356 = WO 9 0.221884190765 X 12 = 2.662610289
= far 5 9 0.712802 x 30 = 21.38407067 = fr 2, 99 0.66261 X 30 = 19.87830868
= o9 21, 9 0.384071 x 60 = 23.04424015 = ¥ 19, 9w 0.878309 x 60 = 52.69852053
= &dl 23, 9w 0.04424 X 60 = 2.654408771 =  &dl 52, 9w 0.698521 x 60 = 4191123188
= fa®er 2, W 0.654409 x 60 = 39.26452626 = fawem 41, 9w 0911232 x 60 = 54.67391261
= g fa 39 = g fa 55

oqq: e AR U8 5:21:23:2:39 o e A=red U8 2:19:52:41:55
Hmie weAH TE 171.3840707 Hamfs AeAH TS 79.87830868
T St NEX 1)

=, 3,

( SRR X WO )+ FfaA ( SRR X W ) + FT FaT
= 714404167096 X 4320000 + 1577917828 = 714404167096 X 4320000 + 1577917828
= 1955885120.9422500 = 1955885120.9422500
= s 1955885120 = s 1955885120
= 9 99 0.942254781723 X 12 = 11.30705738 = 9O 99 0.942254781723 X 12 = 11.30705738
= fyr 11, 9w 0.307057 x 30 = 9.21172142 = wfr 11, 9w 0.307057 x 30 = 9.21172142
= o9 9, 9W 0.211721 x 60 = 12.70328522 = 9 9, 9w 0.211721 x 60 = 12.70328522
= %Al 12, 9w 0.703285 x 60 = 42.19711304 = %Al 12, 9w 0.703285 x 60 = 42.19711304
= fgwem 42, €W 0.197113 x 60 = 11.82678223 = fgwem 42, 9w 0.197113 x 60 = 11.82678223
= g fa 12 = g fa 12

BRI 11:9:12:42:12 LRI 11:9:12:42:12

EHIITS 339.2117214 Fumfe 339.2117214



T T TE JIATH (STETAFT: JITHT)
(R FH, RraaearaT)

e 339.2117214 11:9:12:42
AR - 269.1323376 - 8:29:7:56
farerees 70.07938385 2:10:4:46
Tefaem = 1 9ufg g9
wfafeem = -1 ¥&ufe =WO
Ecl = 70.0793839 =  2:10:4:46
EECEI = 4204.76303 =+ 225
T =g ger 18 9w 154.763 g v 3177
= g 3256 TaeE=R = 79
T = T e v+ (99 x TR + 225)
= 3177 + )05859 x 79 + 225)
= 3231.34
ofrg afefer = TH T 70 70:0
= oo geT=y 72 72:0
e = -120 e
AT = o T X qiReHem=iT + 60
= 323134 x -120 + 60| 3231.34 x -120  +60
= -1.87977837 -6462.67804
(1 Fr=arar) (3438 f=amn)
e affy = w=uffa - ( er=a=rer +3438)
= 70 - ( -6462.68 =+ 3438 )
= 71.8797784
(70 - -1.8798 = 71.8797784 (1 Fr=rr))
T A = qosqr X e aikfs + 360
= 3231.34 x 71.8797784 + 360
= 645.188702 @«
= 10.7531 s = 0:10:45:11 sfemie
0.93989 x 71.8798 =+360 = 0.18766 (1 fearar))
Rrer #9 FereBoTITH] ...
Ffe = 90 - 9=
= 90 - 70.0794
= 19.9206161 = 0:19:55:14
Flfaear = 1195.23697 =+ 225
Tq fyve e 5 v 70.237 g frvg 1105
™= g 1315 TR = 210
Ffesar = T wTfgeg + (99 X TATER + 225 )
= 1105 + (7024 x 210 + 225)
= 1170.55
Fife ST ®eT = Im‘ﬁfaﬂ x "Wty + 360
= 1170.55 x 71.8798 + 360
= 233.72 233:43 FHANG
= HEATE o 1
et = V{(Frem + #1%.)2 + (qowe) 2}
V{(3438 + 233.72)2 + ( 645189 )%}
V{(  3671.72 )? + 416268.461 )2}

TT T YF ATITH (FTLTFR: TITH)

(FaH FH, RrerRamaTw)
e 125.1655197 4:5:9:56
qETH - 339.2117214 - 11:9:12:42
Rrarees 145.9537983 4:25:57:14
Tefeem = 1 #ufg g+
TfetaeT = 1 ®ag ad
g1 = 34.0462017 = 1:4:2:46
ST = 2042.7721 =+ 225
T wfuvg der 9 W 17.7721 g frvg 1910
= g 2093 Tae=rR = 183
T = Ta A fave 4+ (99 X AR + 225 )
= 1910 + 355957 x 183 + 225)
= 1924.45
ofrg afefar = I Tq=A 262 262:0
= oo ger=y 260 260:0
gtk = 120 ®ar
ERE = I 7T X qiReFeT=iT + 60
= 1924.45 x 120 + 60| 1924.45 x 120 <60
= 1.11951986 3848.909286
(1 Fr=amar) (3438 fr=amn)
e oy = w=ufda - ( er=a=rer +3438)
= 262 - ( 384891 + 3438 )
= 260.88048
( 262 - 1.11952 = 260.88048 (1 Frarar))
T el = aoredr X e gkl + 360
= 1924.45 x 260.88048 + 360
= 1394.5907 &=
= 23.2432 s = 0:23:14:35 sfemia
0.55976 x 260.88 360 = 0.40564 (1 fr==rar))
Rrer #9 FereTITH] ...
Ffe = 90 - 9~
= 90 - 34.0462
= 559537983 = 1:25:57:14
Hifche = 3357.2279 =+ 225
g favg dern 14 v 207.228 g fvg 2728
T fg 2859 T = 131
Ffesar = T ATfUE 4+ (99 X TATER + 225 )
= 2728 + (2072 x 131 + 225)
= 2848.65
Iﬁ%ww:lﬁ?&wx Tegiky + 360
= 2848.65 x 260.88 + 360
= 2064.33 2064:19 @l
= FeHEig ®HT -1
— V{(Frem + F1.%.)2 + (srrer) 2}
_ V{(3438 - 206433)® + ( 139459 )%}
V{(  1373.67 )? + 1944883.22 )%}



= ( 13481527.72 + 416268.461 ) = ( 1886976.284 + 194488322 )
=  13897796.19 = 38318595
= 3727.97481 = 1957.513601
s 3727.97481 = 3727:58 FATG oo 1957.5136 = 1957:30 FATlE
NiPeaciicoe ofraher IraH
frgdd = wqeearma x B o+ EEEa fgdd = wgeeawa x B o+ FABT
= 645.188702 x 3438 =+ 3727.97481 = 1394.5907 x 3438 =+ 1957.5136
= 595.003687 = 595:0 FHANT = 2449.33308 = 2449:19 i
T wfTg Fer 2 9w 146.004 wa frvg 449 T Sfg der 12 9y 18.333 T e 2431
T fug 671 TR = 222 = feg 2585 TR = 154
T = Y X 225 + TqE=R + (Tasaraeg @ x 225) =T = Y X 225 + TOEHE=R + (Tqsanfues g@r x 225)
= 146.0 x 225 + 222 +( 2 x 225) = 183 x 225 + 154 +( 12 x 225)
= 147.977 + 450 = 26.7853 + 2700
= 597.977 = 2726.785
dermig ofrgrer = 9.96628 = 0:9:57:59 demie ofrgrer = 45.4464 = 1:15:26:47
sfrgmard = 498314 = 0:4:58:59 ofrerRare = 227232 = 0:22:43:24
o feom dufegw 1 o ey o Mo faom dufeaq 1 o ofraReTd CEl
qeIH UE 269.132338 = 8:29:7:56 HIH T 339.211721 = 11:9:12:42
sfrermee + 4.98313925 = + 0:4:58:59 ofrerceTer + 227232112 = + 0:22:43:24
274.115477 = 9:4:6:56 1.93493263 = 0:1:56:6
(e &, ARwATIATH) | (fefrr +, wREwaTETR)
Hear== 171.3840707 5:21:23:3 == 79.87830868 2:19:52:42
7. oft. wemd - 274.1154768 - 9:4:6:56 v. oft. werd - 1.934932633 - 0:1:56:6
Rrers 257.2685939 8:17:16:7 Rrerds 77.94337604 2:17:56:36
PEES = -1 qefe | PEES = 1 #uig g9
nifateem = 1 ##fg o= fafeem = -1 wexie WO
= = 77.2685939 = 2:17:16:7 s = 77.943376 = 2:17:56:36
STl = 4636.11563 =+ 225 LEEEIl = 4676.60256 =+ 225
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